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TrigonometryExercise for ID 9395

Tn 291 33 23 1

Tl =-13 m, T2=-6m, 73=10m, T4=3m, T5=——"", 76 = , T7 =— , 78 =
2 2 2 2
44 it 17 = 257 16 69 m 87T m 41

79 =— , T10 =", Tl =—"", T12=—"", T13=- , Ti4=—"], T15=

3 3 4 4
99 1t 121 = 137 & 67 Tl =
Ti16 =—

T
, T17 = , 1718 =~ , 719=-—"-1, 120 =
4 6 6 6

13=n
721 =Sin(-6 ), 722 = Cos(—7 m), 723 =Sec(15 1), 724 = Csc(-8 m), 725 = Sin(— j

T 237 17 = (40m 34n
, 127 =Cot 5 ) 728 = Csc 5 ) 729 = Sin 3 ) T30 =Cos 3

17 n 32n [ 65m 27m 57Tm
T31 =Csc —T s T32 = Sec —? , T33 = Sin 1 ) T34 = Cos _T , T35 =Csc 4

( 63nj ( 53nj ( 83nj ( 77nj (317:]
136 =Cot| ——|, T37=Sin| ——— |, 738 =Cos| ——— |, T39=Tan ——— |, T40 = Csc
4 6 6 6 6
35w 59mn 14 47
T4 =442 Sin(—Tjﬁ Tan(—Tj—6ﬁ cOt(—Tjﬁ Sec(— ; )
79 61 14
nj—«/;Tan( 6nj+6«/5Cos( 4nj«/§Csc(— 3nj
61w 22w 4 651 61w
T43:2«/5Csc( j—3 Sec( )——«/;Cos(——j+4«/58in( j
4 3 3 6 4
31w 31w 40 1t 55 =
T44=9ﬁ€0t( ; j—6COS( ; ]Tan( : jﬁsm(— y j
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11
126 = Cos(

52
742 = Sec
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TrigonometryExercise for ID 9419

331 11w 21 n 35w

TI=6m, T2=15m=, T3=-10m, T4 =-3 m, 75 =— , T6 = — , 17 = , T8 =
2 2 2 2
50m 227 197 41t T 49 nt 83 m

79 =— , T10=——"", Tl =—""", T12 =", TI3=—"", Ti4=—", T15=-—

3 3 3 3 4
95 = 1257 55 = 97 &t 107 &
T16:T, T17 =— P TIS:_T’ T19=—""", 720 = P

177w
721 = Cos(—15 ), 722 =Sin(-5 ), 723 = Cot(10 1), 724 = Sec(—6 1), 125 = Cos( j

, ( 25nj (25nj (l9nj ( 20nj (40n
T26=Sin| ———— |, T27 = Tan| , T28 = Sec , 729 = Cos , T30 = Sin
2 2 2 3 3
5= R2x [ 25m 61 m
T31 =Csc| — s T32=Cot| ——— |, T33 = Sin , T34 = Cos
3 4 4 4
297

a W

45 ) 71w 37 n
136 = Tan( 4 ), 137 = Sln(— T), 138 = Cos( p ), 739 = Sec(—

T41=6 cm[gsz sm(— %—nj —64/2 Csc[— li—nJ 3 Tan[ 496nj

142 = 91/7860( j [Csc( j 3 Tan(?,anJr% 3 Cot(9
743 = 4«/7C0s( j 2«/7Tan( Al nj+Sin(376n 2 Sec(— 41 j
T44=64[2 Sin(— T“J _43 Sec( Sinjﬁ COS(— 234“) Cot(— 263“)
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TrigonometryExercise for ID 9428
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137 191 131 35n
T =-12 m, T2=-13m, 13=7m, T4=10m, T5 =-— , 76 = — , T7 = , 78 =
2 2 2 2
357 46 T 327 43t 6lm 57 m 99
79 = , T10=——"", Tl =—"—, T12 =", TI3=—"", Ti4=—"], T15=-—
3 3 4
8T n 89 n 107 & 97 1t
T16 =—""), T17=—"7"3, T18 =

67m
S TIQ:_T’ 720 =

721 = Cos(—10 m), 722 =Sin(-14 1), 723 =Tan(5 m), 724 = Cot(-12 n), T25—Sin(

35nj
2

31n 351 On 257 (lé6m
T26 = Cos 5 ) 127 =Cot , T28 = Sec —7 , 729 =Cos , T30 = Sin 3
44 1t 47 1t 691 _ 45 1t
T31 =Csc| — 3 ) 732 = Tan| —T , 733 =Cos 1) T34=Sln T35 =Tan 4
63 m 43 1t (91m 1=
T36:Cot(— , T37:Cos( p j, T38=Sm( p p j

6
j, 139 = Sec( j T40 = Tan(
49 n 35~ 671 27
T41=242 Sin( j 40 Csc[— J cm[— j ( )
6 4 3
742 =3 Sec( j 9 «/7 Tan( j + 8 ot( j[ Sm( j
) 777 35m 287 71
T43 =10 Sm(— T) -2 Cot(— Tj -6 Cos( 3 j +5 Csc(

89 34 21 43
T44:6Sin(— 6n)Sec( 375]—2«/5(30( 4nj«/;Cot( 6nj
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TrigonometryExercise for ID 9459

231 35n 17 = 21 =

Tl =14, T2=9mx, 73 =-11m, T4=-16m, 75 =— , 76 = , T7 =— , 78 =
2 2 2 2
S9n 31m 46 1t 207 51m 87T m 45 it

79 = , T10 =", Tl =—"—, T12=—"", TI3=—""", Ti4=—", T15=-—

3 3 3 3 4 4
89 n 127 & 6l m 149 &t 83 m
T16=—" T17 =— . TI8=—"", T19 =— . 720 =
4 6 6 6 6

"
j T30 = Sin( 5237[)
) o 22
m nj

35
721 = Cos(11 m), 722 =Sin(-12 &), 723 = Csc(-13 m), 724 =Tan(6 1), T25=Sin( 5

i AR 137
, T27 = Sec 5 ) 728 = Tan| 5 ) T29=Cos

o 17 n ) 3l

s T32=Cot| ——— |, T33=Sin| —— |, T34:COS
3 3 4
43 1t 89 n 83 n
136 = Cot(— —4 ), 137 = Cos(— —6 ), 138 = Sm( ), 739 = Sec( )
357 391 4971

T41=6ﬁ$in(—TJ—STan( p ] 3COS[ ; J+3ch[
47 59 5=
742 = 18«/;Tan(— 6njC ( ch [Sm( stc(

51m
) Cos( j Tan| —

47
T43 =2 Sec( j— 160 Sm( 4

26 T 103 =t 291
T44 =3 Sec| — —2Tan +84/3 Cot Cos| —
3 4 6 3
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31
726 = Cos(
2

43
731 = Csc(

31
T40 = Csc

:

|
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TrigonometryExercise for ID 9476

171 9n RN 191
TI =-7m, T2=-6m, T3=4m, T4=5m, T5 =-— , T6 =——, T7 =— , 78 =
2 2 2 2
46 T 20 237 Tr I57 T3 7 797
79 =— R TI0=—"", Ti] =—"""), TI12=—"", 713 =- R T4 = , T15=
3 3 3 3 4 4
53¢ 95 = 67 109 &t 137 &
T16:—T, T17:T, T8 =— P T19 = P 720 = —

15
721 =Sin(17 m), 122 = Cos(—15 m), 723 = Cot(-10 1), 724 = Tan(—11 n), T25=Cos(— 2nj
ch ( 19nj ) ( 47nj (5211}
, 128 =Cot| ———— |, T29=Sin| ———— |, T30 =Cos
2 3 3
o 32n (37m 39 337
s T32=Cot| ——— |, T33 = Sin , T34 = Cos| — , T35 =Cot
3 3 4 4 4
297 89 n (103 1 551 41
136 = Tan( ), 137 = Cos(— —), 138 = Sm( ), 139 = Cot( j, T40 = Sec(— j
4 6 6 6
41 291 8m) (28w
T41=8 Sec(— jﬁ CSC( p ]—8 COS( ]Sm( S
3
S9n 44 1t 43 7t 69m
T44:2«/§Cot(— —6 ]— 18 Cos(— —3 j«/;Sec( j«/ECsc( 4 j

3 6
i ) 51m
2 Sin| —
4
S9n 43
T43 =24/2 Sec| — — 8 Cos
PN REI SR NI EY D 0:010:0:00.0:0:0:0.0.0.0.0.0.0:0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.00.0.0.0:0-0.0.0¢

_ 25m 23
T26 = Sin —T s T27 = Sec 5

31
731 = Sec(

41
T42=2 Cot( 4

28 91
nj—9 3CSC( nj+12«/§COS( ;
n] ( 657:) ( 5971)
—10 Sin| ——— |+ Tan| —
4 6 4
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TrigonometryExercise for ID 9491

19~ 17w 35n 33n
Tl =-9m, 2=11m, 73 =-14m, T4=28m, T5=- \ 76 = , 17 = \ 78 =—
2 2 2 2
20T 46 1t 297 37n 9n 9 n 89 m
79 =— , TI0=——"", Tl =—""}, TI2="", Ti3=—"", T14=- , Tl5=
3 3 3 3 4 4 4
37 m 67m 101 & 6lmn 107 &
Ti6=——", T17=—"7", TI8=- , T19= , 120 =
4 6 6 6 6
) 2l n
721 = Cos(—7 m), 722 = Sin(-10 m), 723 = Sec(8 1), 724 =Tan(11 ), 725 =Cos| — 5
([ 13= 3w 29n ) 231 35n
726 = Sin s T27 = Sec —T , 728 = Cot —T , 729 = Sin| — 3 ) T30 = Cos| — 3
20m 281 49 n ) 59n 43 n
T3] =Tan| ——— |, T32 =Csc , T33 =Cos , T34=Sin| ——— |, T35 =Csc| —
3 4 4 4
T1n T

i ) 9n 73
), 138 = Sm(— T), 139 = Csc( p j, T40 = Sec( p )

95n 357 257 (91m
T41 =43 cm[— —J ) Tan(— —j 3 Sec( ) 16 Sln[ J
6 4 3 6
57 103 31 43
T42=8Tan( 4anin( nj—6«/§Csc( njﬁSec(— 4ch

6 3

20w 97n ) 2 1971 231w
i3 =34/3 oo 2% |35 cof 22|+ 22 sed 2% |3 s - 227

6 3

27 S0m 27 O5m
T44 =442 Cos —T — 18 Cot| —T «/ECSC— 4 Tan| — p
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671 55
136 = Sec(— T), 137 = Cos(
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TrigonometryExercise for ID 9633

TI=9m,

31 = 11x 171 9n
12=2m, T3 =-5m, T4=—-6m, T5 = , 76 = — , T7 =— , 78 =—"
2 2 2 2
16 &t 41t 37 m 26 T3 7 85w 67
79 =— , T10 =", Tl =—""", TIZz—T, TI13=—"", Ti4=——"", T15=-—
791 77 n 97 &t
T16 =—"", T17 =——"7, Ti8=—"7,

95 = 103 &
T19=—"", 720 = —

6
721 =Sin(-14 ), 722 = Cos(—15m), 723 =Cot(16 1), 724 = Tan(—6 1), T25=Sin(—
1=

231w
726 = Cos —T , T27 =Sec| ———— |, 728 = Cot

23 nj
2
33 31w (22T
s 729 = Cos s T30 = Sin
2 2 3
17w 40 e
T31 =Csc —T , T32 = Sec 3 ) 733 =Cos| ———
45 1t gL
T36=Sec( 1

3
27 _ 437 57
, T34=Sin| —— |, T35 =Cot
4 4 4
771 &3 91 n 6l
j, 137 = Sin(— —j, 738 = Cos(— —), 739 = Cot( j, T40 = Sec( j
6 6 6 6
41 49 1t 657 401t
T41 =18 Tan(— j Cos( ] -2 Cot[ J Sec[ J
3 6 4
14 n 95 n
T42 =8 Cos| — 3 —Csc|l ———
49 1t
T43 = 2@00{ ;

3

35 31
j—STan(——nj+3«/§Cot( nj

4 3

38 53 91
j—?a 3 Tan(—Tn)+9«/ESec( 4nstc( TEJ

47 nt
T44=2+43 Cos(—

6
31 97 25
P )—Csc( 3njC0t( njﬁSec( &

6 4]
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TrigonometryExercise for ID 9711

371 R 51 RO
TI=15m, 12=2m, 73 =-8m, T4=-11m, 75 =— , 76 = , 77 =—"", 78 = —
2 2 2 2
43 1t 46 T 44 it 47 1 37 m 8l m Tl =
79 = , T10=——"", Tl =—"—, T12 =", TI3=—"", T14 = R T15=
3 3 3 3 4 4 4
67 717 137 & 115= 85w
T16:—T, T17:T, T8 =— P T19 =— P 720 =

2l n
721 =Sin(-6 ), 722 = Cos(12 ), 723 = Cot(-10 m), 724 = Sec(16 1), T25=Sin( 5

T 157 (l6m 32n
, 128 =Sec| ———— |, 729 = Sin s 730 = Cos| —
2 3 3
o 32n 61 m ) 231 33
, 1732 =Cot| ———— |, 733 =Cos , T34 =Sin| —— |, T35 = Sec
3 4 4 4
T 97 1t 89 m
j, 139 = Tan( j, T40:Csc(— p )

oS A)

AR 35
726 = Cos —T , 727 = Cot 5

19
731 = Tan(

43 1 471 91
136 = Csc(— Tj’ 137 = Cos(— p j, 138 = Sm(

T41=4ﬁsm(29n) (

sl 5Bl ol Bl £

3
T43=§ﬁ$in(—7nj—ﬁ ( ] 6[““’( j+scos(33j

43 nt 37 47 nt 55=
T44:2«/5Cos —T -3 Csc —T + 10 Sec| — 3 Tan| — 4
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TrigonometryExercise for ID 9784

TI=11m, T2 =-4m,

17 = 1= I5= 137
T73=8m, T4=-Tm, T5=- , T6 = , 17 =— , T8 =
2 2 2 2
26 41 &t 197w 46 1t 103 &t I n 85w
79 =— S T]O:T, Tl =—"", T12=- 3 TI3= , Ti4=——", Tl5=—-
8l = 107 897 737 127 &
TI6=—""" TI17 = , TI8=——"", T19 =", 120 =-
6 6 6
) 137
721 = Cos(—15 ), 722 =Sin(-16 1), 723 = Cot(=5 m), 124 = Tan(—13 ), 725 = Cos 5
(1= AR
T26 = Sin 5 ) T27 = Sec

j ( 3lnj ( 47ch _(19nj

, 1728 =Tan| ———— |, 1729 =Cos| ——— |, T30 = Sin

2 2 3 3
19w

207 237 237 _ 57Tn
T3] =Tan| ——— |, T32=Sec| ———|, 733 =Cos| —— |, T34 = Sin| — , T35 =Csc
3 3 4 4 4
(25 n) ( 4171) _ ( 4771) (SSnj ( 47nj
T36 = Cot , 137 =Cos| ——— |, 1738 =Sin| ——— |, 739 =Csc s T40 = Sec| —
4 6 6 6 6
277 9n 57Tm)  (34mn
T41 =442 COS[——4 j—270Tan( ; jcm( jSln[ J

4 3
53 47 1 23 1 41
T42:3«/;Sec(——nj—8Cos(——nj——«/zCsc(— nj+—«/§C0t(— nj
6 3 2 4 3 6
41 &t 69 1 77 n 43 1t
T43=6 «/; Cot(— j - Tan( J +4 ﬁ Cos(— j Sec( )
3 4 6 3
55n 53n
T44=8ﬁTan( - jﬁsm(
0009]

14 &t 41t
J - 24 Cos(— j Csc(— )
4 3

6
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TrigonometryExercise for ID 10143

37n 15w 277 131
T =—-4m, T2=8m, T3=11m, T4 =-15m, 75 =— , T6 = — , 17 = , T8 =
2 2 2 2
31m 50m 357 34 r 8l m 55 ¢ 37 m
79 = , T10=——"", Tl =—""", T12=—"", TI13=—"", Ti4="], T15=-—
3 3 3 3 4 4
67 149 &t 85 m 131 = 67
TI6=—"" T17 =— . TI8=—", T19 = . 720 = —
4 6 6 6 6

I5=n
121 = Cos(7 ), 722 =Sin(-11 m), 723 =Tan(13 ), 724 = Csc(—-15 ), T25=Sin(— 5 j

33n AR ] 207 40
726 = Cos —T s T27:Sec T28 = Tan, 5 ) 729 = Sin —T , T30 = Cos 3
i 37 n (33=m 61 m
, 732 =Csc| — 733 =Cos , T34 = Sin , T35 =Cot
4 4 4
19x ) 37 m 671 71n
T36:Csc(— —4 ), T37=Sm( ) T38:Cos( p j, T39=C0t( j, T40:Sec(— )
03 471 67 55n
T41=184/3 Tan( jCos[——J—9C0t(— ]CSC( J
6 3 4 6
4 46 34
T42:§«/§Sin( nj_ﬁ ( j+6«/7$ec( jCos( 37:)
101
T43=64/3 Tan(— p )—ﬁ ( ] 4[311{ j fcm( ]
33 79 25
7T)—6Cot( 4nj«/§Tan( 6anec( 371)
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TrigonometryExercise for ID 10359

D0.0.0.0.0.0.0:0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXKKXXXXKXXKKKXXKKXXXKKLXK KKK KK KLXK KKK KK KK XK KKK KKKKM5/1-6500301-00011XX
=5,

157 217 15w 51
71 = T2=13mx, 73 =-8m, T4=6m, 75 =— , T6 = — , 17 = , 8=—"

2 2 2 2

10= 41t 37 m 50m 65m 69m 47wt

79 =— , T10 =", Tl =—""", T12=—"", TI13=—"", Ti4=——"", T15=
3 3 3 4 4
757w 101 & 107 & 115=
T16=——"", T17 =— , T18 = . T19 =—

61 m
= , 120 =
6 6
721 = Cos(—11 m) 722 =Sin(9 ), 723 = Cot(-12 n), 724 =Tan( 14 ) 725 Sln(
137 13
726 = Cos 5 ) T27 =Csc

nj (23 nj _ (22n
-, 728 = Tan| R 729 = Sin
2 2
43 1t 287w
T31 = Sec 3 ) 732 = Tan|

197w
s 730 = Cos
3 3
27w 57w
s T33=Cos| —— |, T34 = Sin|
3 4
197w 97
136 = Tan(— T), 137 = Cos(

j ( Slnj
s T35 =Csc| —
4
(37m 3=
j, T38=Sm( j, 139 = Sec( j, T40:Csc( )
6 6 6
69 3
T41 = 6fsln[ J an[ 4“J+54cm( jc[ 3“}
23 n 257
742 = 6«/781n 2«/7Tan «/7C0s 4 + Sec 3
49 77 17
T43:Tan( 4n]«/§C0t(—Tnj—6 Sec(— 3n]«/38in(—
34
T44=ﬁ0sc( =

o

\S)

T 9n 53n
54 Cot Sin 42 Cos
6 3
PO.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00000000 000000000000



):0:9:9:9:9.9:9.9.9.9.9.9:9.9:0.9:9.9:9.9:9:0:9:9:9:9:0:9:9:9:9:9.:9:9.9:9.9.0.9:9.9:0.9.0.9:9.0:0.0:9.0:9.0:9.9:9.9:9:0:0:0:0.9.9:9.9.9.9:9.9.9.9:0.9:9.9:9.9.9.0:9.0:9.0:0.9:0:0:0:9:9:0.0:9.9.9.0:0.0.0.0.9.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXLXXKXXKKXXXXKX XK KXKXKXX KX KXKXKLXKXXKX KX KXKXXKXKKKXKKXKXKME /1-6500301-00012XX
TrigonometryExercise for ID 10626

37n 9n R 391w
TI=10m, T2=9 =, T3=-5m, T4 =—-6m, 75 =— , 76 =——, 77 =— , T8 =
2 2 2 2
347 35m 137 50m 83 m 85w 8l m
79 =— , TI0=—"", Tl =—""}, TI12=——"", Ti3=—", T14=—-——"", Ti5 =
3 3 3 3 4 4
103 &t 131w 103 6lm 101 =
Ti6 = , T17 = . T8 =— , T19=—"", 720 = —
4 6 6 6 6

721 =Cos(7 m), 722 =Sin(11 m), 723 =Sec(13 1), 724 =Csc(12 m), T25=Cos(—

3ln
2
) 17 m Iln 13n 32m _
T26 =Sin| ———— |, T27 = Sec , 728 = Tan , 1729 =Cos| ———— |, T30 = Sin| —
2 2 2 3 3
231 281 6l m 63m 53m
T3] =Csc| ———— |, 732 = Tan| , 733 =Cos , T34 = Sin| — , T35 =Cot
3 3 4 4
i 9n (67m 6lmn
), T37:Cos( j, T38=Sm( j, 139 = Cot( T40 = Sec( )
T41=342 Csc[ j ~3 cm[ J 25 Tan( ) ( )
([ 55Tm 38mn 43 1t 69
742 =4 Sin — 18 Sec —T «/ECO'[ Tan
17 33 103 41 nt
T43:3«/§C0t(—Tnj«/ESec( 4nj—6C0s( p anan( j
i S9n
) -3 ﬁ Csc( J «/7 Tan( J +2 «/7 Sec( J

X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKKKKKKKXX XXX KKK KKK KKK KKK KXKKKXX

)
J

69
T36 = Csc
4

21
T44:4Cot( 1



):0:9:9:9:9.9:9.9.9.9.9.9:9.9:0.9:9.9:9.9:9:0:9:9:9:9:0:9:9:9:9:9.:9:9.9:9.9.0.9:9.9:0.9.0.9:9.0:0.0:9.0:9.0:9.9:9.9:9:0:0:0:0.9.9:9.9.9.9:9.9.9.9:0.9:9.9:9.9.9.0:9.0:9.0:0.9:0:0:0:9:9:0.0:9.9.9.0:0.0.0.0.9.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXKXKXKXXXXXKX XL XKXKXX KX KXKXKLXXXKX KX KXKXXKXKKXKXKKXKXKME /1-6500301-00013XX
TrigonometryExercise f

15w 9n 35w 21 =
Tl =—-6m, T2 =-Tm, T3=3m, T4=4m, T5 =-— , T6 =——, T7 = , 78 = —
2 2 2 2
237w 56 28 43t T3 7 Tr 67
79 = , T10=——"", Tl =—"—, T12 =", TI13=—"", T14 =— R T15=-—
3 3 4 4
717 T &S m 89 n 1317
T16 =—"", T17=—"7"7, TI8=—", T19=—"7" 720 =
4 6 6 6 6

721 =Sin(-17 &), 722 = Cos(—9 m), 723 =Sec(-13 1), 724 = Csc(8 m), T25=Sin(

or ID 11002

1= T 15w 34n
726 = Cos , 127 = Cot ——2 s 728 = Csc 5 ) 129 = Sln 730 = Cos 3
40t 17 n RN 91 43 1t
T31 = Tan| , T32 = Sec —T , 733 =Cos —T , T34 = Sin| — T35 = Sec| — 4
197 ) R 49 1t 297
T36:C0t(— —4 ), 1737 = Sm(— —), 738 = Cos p ), T39:Csc( j T40:Sec(— p )

40
141 =243 Csc(

njﬁsm(szn —SﬁTan(

T42=343 Cot(— _Tfj _gﬁ Cos( 67 1

T43 = 6[8111( ) 2fcos( j+ﬁCSC(_ 4?;nj Sec(— 5(;nj
T44 =43 Cot(

o) S ral 2ol %)
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73 n Cos
. j s
j 4 «/5 Sln( 4 j + Sec( j
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X

723 = Cot(-9 ),

19nj ( 15nj (lSnj
— T27 =Tan| ——— |, T28 = Sec ,
2 2 2

38 43 1t T
731 = Tan| ——3 , 732 =Csc

37
j, 733 = Cos(
3
65m 731
T36:Csc( 1 j, T37:C05(

- ) T38 = Sin(
T41=24/3 COS( ] =2 Sec(
T42=342 COS(

)23 a1

35w
T43 =2 Cos(— T) -72 Cot(—

126 = Sin(—

43
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69
T44 =184/ 2 Cos

49 377
4nj«/§C0t( 37:)_ 8 Sln(

17
729 = Cos(— 3 j, 730 = Sm( j
( 39 nj 41 j
T34 = Sin , T35 =Tan
4 4
85w 89 n
) 139 = Sec( p ), T40 = Csc(—

e 2] 2]
s el

e 2o
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TrigonometryExercise for ID 11188

131 23 1 15w 21 n
TI =-7m, T2=-10m, T3=8m, T4=5m, T5 = , 76 = , T7 =— , 78 =
2 2 2 2
327 47 1 43 1t 46 T 45 it 41
79 =— , TI0=—"", Tl =—""}, TI12=——"", Ti3 =- 1 T14 = S Ti5 = 4
75w 97 &t 103 & 131 = 89 n
TI6=—"" T17 =—", T8 =— , T19 = . 720 = —
6 6 6
121 = Cos(7 ), 722 =Sin(-6 ),

27 n
724 = Csc(13 m), T25=Cos( 5 j

7

). o)
95nj

4

47 1t
Tan| —
6
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TrigonometryExercise for ID 11505

Tn 25 ¢ 291 191
Tl =-2m, T2=10mx, T3=9 =, T4=-11m, T5=——"", 76 = — , T7 = , 78 =
2 2 2 2
197 34 r 50m 17 = 757 37m 95 m
79 = , T10=——"", Tl =—"—, T12 =", TI3=—"", 714 =— R T15=
4 4 4
57w 103 & 1257
T16:—4 , T17 = — , _

717 6lm
, T19=—""", 720 =
6 6

721 =Sin(-14 1) 722 = Cos(—15 n), 723 = Cot(—6 1), 724 =Tan(-9 1) 725 Cos(
17

35 ch
’ 2
) T 33n 33n 197 (40m
T26 = Sin , T27 = Sec , 728 =Tan| ———— |, 729 = Cos , T30 = Sin
2 2 2 3 3
32n 3l n [ 53= 3l n 19n
T3] =Tan| ——— |, 732 = Cot , 733 = Sin , T34=Cos| —— |, T35 = Sec| —
3 3 4 4 4
41 55 ¢ 85w 83w 101 =
736 = Cot( j, 737 = Cos( j, 738 = Sln( j, 739 = Sec( —j, T40 = Tan(— j
4 6 6 6
31 = Tr 53n
T41 = 12ﬁsm(— ; ) ( ) 24 ec( ]«/ECOS( ; ]
41 61 83
T42=ﬁ5ec( ; j 9% COS( j ( RJ 3T RJ
T 291

an| —
6
397 i
T43=2«/5C05(—Tj—«/§Csc( —2«/§Sec(— P ]+Cot( 4 )

25n 49t
744 =2 «/; Sec( j «/7 Tan( j + 20 Cot( 4 J Csc( j
0015]

6
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TrigonometryExercise for ID 12113

TI=9m, T2 =-11m,

S5m RRE 35n 11=
T3=12m, T4 =-14 m, T5=—"", 76 = — , 17 = , 78 =—
2 2 2 2
41 10m 257 56 51m 6lm 95 m
79 = , T10=——"", Tl =—""", T12=—"", TI3=—""", 714 =— R T15=
3 3 3 3 4
49 1t 119w 557 149 &t 133 =
T16:T, T17 = , T18:—T, T19 =— , =

27 n
721 = Cos(8 m), 722 =Sin(10 w), 723 = Tan(-9 ), 724 = Sec(—7 m), T25=Sin(— j
19n
726 = Cos

297 257 _ 44 7t 147w
), 127 = Csc( j, 128 = Tan(— —j, 729 = Sm(— —j, 730 = Cos(— j
2 2 2 3 3
53w
, T35 =Cot 1

41 291 19n ) 59n
T31=Sec| ———|, T32=Cot| ——— |, 733 =Cos| — , T34 = Sin| —
3 3 4 4
197 (73 m 89 n 9n 37m
136 = Csc(— —j, 137 = Sln( j, 138 = Cos(— —), 139 = Csc( j, T40 = Cot( j
4 6 6 6 6
32x 49 1t
T41=24/3 Sin[— TJ—4 cm(

) o 2o 2

3

38 37 1 43 22
T42=94/3 Cot(——nj—SCSC( nj——ﬁ Sec(——nj+4«/§Sin( nj
3 6 2 4 3
) 53mw 27 n 49 1t 101 &
743 =12 Sin _T «/ESec —T — 6 Tan 3 Cos| —

6

8n| 4 63 7 71 x 3=
T44=3«/§Cot( p j—g«/? Cos(— 4 stc(— p j«/gSin( j
0016]
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TrigonometryExercise for ID 12541

231 Tn 33 21 n
TI=2m, 12=7m, 73 =-9m, T4=-4m, T5 = , T6 =——, T7 =— , 78 =
2 2 2 2
26 597 43 1t 46 T 791 41t 6lm
79 =— , T10 =", Tl =—""", T12=—"", TI13=—"", Ti4=—"] T15=-—
3 3 4 4
597 6l m 791 Tl = 149 &t
T16:—T, T17 =", T18:—T, T19=—", 720 = — p

35~
121 = Sin(-5 m), 722 = Cos(—12 m), 723 = Csc(—-15 ), 724 =Tan(8 1), 125 = Cos( j
) 19 37w 13w (43 = 44t
726 = Sin —T, 127 =Csc 5 ) 728 = Cot 5 ) 729 = Sin 3 ) T30 = Cos| — 3

16w 38n 43 1t (41w 297
731 = Tan, , 732 =Csc —T, 733 =Cos —T, T34 = Sin| 1) 735 =Tan 4

43 85 m 91 =«
136 = Csc(— T), 137 = Cos( p )

351w 77 1t
j, 738 = Sin(— —) 739 = Cot(— —) T40 = Tan(
6 6 6
4 251 7T m 52w
T41=§«/§Sin[ S J—3ﬁ0sc( j—«/;Cot(——6 j+6COS[ S J
71 29 55 57
T42 =343 Tan(— —nj ~ 120 COS(— —nj 3 Sec( = J J2 Sin( nj
6 3 6 4
231 317 RIN 377w
743 = Sec(— Tj -2 ﬁ Cot( p J +4 «/E Csc(— j Cos( J

4 3

njﬁSin(41nj—4ﬁCos(55 n)se{sz nj

37m
4

37
T44=64/3 Tan(

6 3
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TrigonometryExercise for ID 12674
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